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BACHELORS DEGREE PROGRAM 

Term-End Examination 

CO 	 June, 2012 
CO 
CD BECE-002 : INDIAN ECONOMIC DEVELOPMENT : 

ISSUES AND PERSPECTIVES 

Time : 3 hours 	 Maximum Marks : 100 

Nate : Answer all the sections as per the directions given in 

each section. 

SECTION-A 
(Long Answer question) 

Answer any two questions from this section 	2x20=40 

1. What is sustainable development ? Explain the 

sectorwise issues that are crucial for sustainable 

development. 

2. What is globalization ? State the factors 

responsible for increasing globalization of India. 

3. Discuss the importance of agriculture in the 

Indian economy. Has there been any change in 

this situation in recent years ? 

4. Examine the changes in the volume, composition 

and direction of India's Foreign Trade since 1990. 

Also explain, in brief, India's Look East policy'. 
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SECTION-B 

(Medium - Answer questions) 
Answer any four questions from this section. 4x10=40 

5. Discuss in brief, the important reasons due to 
which the operation of MNCs are favoured but 
at the same time feared by a developing economy. 

6. Make a critical assessment of the education policy 
in India since independence. 

7. Briefly outline any three determinants of economic 
development. 

8. What is unemployment ? Identify the factors 
responsible for unemployment in India. 

9. How does inflation affect the poor people ? 

Discuss the corrective measures to control 
inflation. 

10. Outline, in brief, the different measures to promote 
small scale industries in the Indian economy. 

11. Discuss the mechanism of transfer of financial 
resources from the centre to the states in India. 
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SECTION-C 

(Short answer questions) 

Answer both the questions from this section, as 
directed : 

12. Distinguish between any two of the following : 
2x5=10 

(a) Trade deficit and current account deficit 
 

(b) Foreign Direct Investment and portfolio 
Investment. 

(c) Economic Growth and Economic 
Development. 

13. Write short notes on any two of following : 

(a) National wholesale price index. 

(b) National sample survey Organisation 

(c) Black Economy. 

2x5=10 
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